



### 2015 Tuition and Fees Schedule

Total Credits Required for Graduation	Total Credits Taken at AIU	Total Cost Per Credit Hour	Total Tuition Charge 1 (Includes all software and course material)	Graduation Fee7	Total Program Cost1 (Includes all software, course material and graduation fees)			
		Undergr	aduate Programs					
Associate of Arts in Business Administration (AABA)								
90	90	\$302	\$27,180	\$150	\$27,330			
	Associate of Science in Criminal Justice (ASCJ)							
90	90	\$302	\$27,180	\$150	\$27,330			
	,	Associate of Arts in	Visual Communication	(AAVC)				
90	90	\$302	\$27,180	\$150	\$27,330			
		Bachelor of Busi	ness Administration (E	BBA)				
180	180	\$302	\$54,360	\$150	\$54,510			
		Bachelor of Healt	hcare Management (B	HCM)				
180	180	\$302	\$54,360	\$150	\$54,510			
		Bachelor o	of Accounting (BACC)					
180	180	\$302	\$54,360	\$150	\$54,510			
	Bachelor of Information Technology (BIT)							
180	180	\$302	\$54,360	\$150	\$54,510			
	Bachelor of Fine Arts (BFA)							
180	180	\$302	\$54,360	\$150	\$54,510			
		Bachelor of Science	e in Criminal Justice (	BSCJ)				
180	180	\$302	\$54,360	\$150	\$54,510			
		Gradi	uate Programs					
		Master of Busin	ess Administration (M	BA)				
48	48	\$582	\$27,936	\$150	\$28,086			
	Master of Healthcare Management (MHCM)							
48	48	\$582	\$27,936	\$150	\$28,086			
Master of Accounting (MACC)								
60	60	\$582	\$34,920	\$150	\$35,070			
	Master of Information Technology (MIT)							
48	48	\$582	\$27,936	\$150	\$28,086			
	Master of Education (M.Ed.)							
48	48	\$442	\$21,216	\$150	\$21,366			

### **Notes**

- Program tuition and total program cost are based upon total program credits, which may vary due to transferred credits or repeated courses.
- 3. Program tuition is charged per credit hour each quarter throughout the student's program and is charged at the beginning of each quarter.

  4. Institutional Charges include a custom suite of course materials that are provided to the student by Words of Wisdom, LLC. At the University's discretion, books
- may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard textbooks.
- 5. For a complete list of specializations available, please see the university catalog
- 6. Students wishing to enroll under non-degree-seeking status should see the University Course Catalog for applicable information.
  7. A non-refundable Graduation Fee will be charged to the student's account during the final term. Please see the Graduation Requirements section of the catalog

AIU Online reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.

Find disclosures on graduation rates, student financial obligations and more by visiting the degree program descriptions at www.aiuniv.edu.

### **Online**



EFFECTIVE FOR STUDENTS ENROLLED TO BEGIN CLASSES FOR THE JANUARY 3, 2011, QUARTER AND BEYOND, AIU ONLINE IS NO LONGER OFFERING CONCENTRATIONS FOR THE PROGRAMS LISTED ON PAGES 2, 3 AND 4 OF THIS TUITION AND FEES SCHEDULE.

# Bachelor of Information Technology Degree Tuition Schedule – Dual Concentration

Your first concentration was included in your degree program. The required number of credit hours and corresponding costs are listed in the BIT table below. Please consult the AIU Online 2010 Course Catalog for the required additional courses to complete each eligible concentration.

### BIT

Number of additional credit hours per concentration	Number of additional courses per concentration	Cost per credit hour	Minimum number of additional quarters required to complete this concentration	Total Additional Cost
18	4	\$302	1	\$5,436

### **Available Concentrations for BIT Students Include:**

Networks Programming Security

# Bachelor of Science in Criminal Justice Degree Tuition Schedule - Dual Concentration

Your first concentration was included in your degree program. The required number of credit hours and corresponding costs are listed in the BSCJ table below. Please consult the AIU Online 2010 Course Catalog for the required additional courses to complete each eligible concentration.

### **BSCJ**

Number of additional credit hours per concentration	Number of additional courses per concentration	Cost per credit hour	Minimum number of additional quarters required to complete this concentration	Total Additional Cost
18	4	\$302	1	\$5,436

### **Available Concentrations for BSCJ Students Include:**

Forensic Science Law Enforcement

#### Notes:

- 1. Students who complete an additional concentration as part of their degree program will have their earned concentrations listed on their diplomas. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible to receive an additional or revised diploma.
- 2. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible for financial aid.
- 3. BSCJ students completing a concentration in General Studies are not eligible to enroll in any other concentrations.

AIU Online reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.

### **Online**



EFFECTIVE FOR STUDENTS ENROLLED TO BEGIN CLASSES FOR THE JANUARY 3, 2011, QUARTER AND BEYOND, AIU ONLINE IS NO LONGER OFFERING CONCENTRATIONS FOR THE PROGRAMS LISTED ON PAGES 2, 3 AND 4 OF THIS TUITION AND FEES SCHEDULE.

### Bachelor of Business Administration Degree Tuition Schedule – Dual Concentration

Your first concentration was included in your degree program. The required number of credits and corresponding costs are listed in the BBA table below. Please consult the AIU Online 2010 Course Catalog for the required additional courses to complete each eligible concentration.

Number of additional credit hours per concentration	Number of additional courses per concentration	Cost per credit hour	Minimum number of additional quarters required to complete this concentration	Total Additional Cost
18	4	\$302	1	\$5,436

## Available Concentrations for BBA Students Include:

Accounting
Finance
Healthcare Management
Human Resource Management
International Business
Management
Marketing
Operations Management
Organizational Psychology and Development
Project Management

#### Notes:

- Students who complete an additional concentration as part of their degree program will have their earned concentrations listed on their diplomas. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible to receive an additional or revised diploma.
- Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible for financial aid.
- 3. BBA students without a concentration are not eligible for the BBA dual concentration in Management.
- 4. BBA students with a concentration in Accounting and Finance are not eligible for the BBA dual concentrations of Accounting or Finance.

AIU Online reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.

### **Online**

EFFECTIVE FOR STUDENTS ENROLLED TO BEGIN CLASSES FOR THE JANUARY 3, 2011, QUARTER AND BEYOND, AIU ONLINE IS NO LONGER OFFERING CONCENTRATIONS FOR THE PROGRAMS LISTED ON PAGES 2, 3 AND 4 OF THIS TUITION AND FEES SCHEDULE.



### Master's Degree Tuition Schedule – Dual Concentration

Your first concentration was included in your degree program. The required number or courses, corresponding costs, and eligible concentrations for your degree program are listed below. Please consult the AIU Online 2010 Course Catalog for the required additional courses to complete each eligible concentration.

Degree	Number of additional credit hours per concentration	Number of additional courses per concentration	Cost per credit hour	Minimum number of additional quarters required to complete this concentration	Total Additional Cost
MBA	12	2	\$582	1	\$6,984
M.Ed.	18	3	\$442	1 1/2	\$7,956

## Available Concentrations for MBA Students Include:

Accounting and Finance (See note 4 below)
Finance (See note 5 below)
Healthcare Management
Human Resource Management
International Business
Management
Marketing
Operations Management
Organizational Psychology and Development
Project Management

## Available Concentrations for M.Ed. Students Include:

Instructional Technology Curriculum and Instruction Educational Assessment and Evaluation Leadership of Educational Organizations

#### Notes:

- 1. Students who complete an additional concentration as part of their degree program will have their earned concentrations listed on their diplomas. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible to receive an additional or revised diploma.
- Students pursuing a concentration after graduation from an AIU
   Online degree program are considered non-degree seeking and are
   not eligible for financial aid.
- MBA students completing a concentration in Global Technology Management are not eligible for the MBA dual concentration in Management
- 4. MBA students completing a concentration in Accounting and Finance are not eligible for the MBA dual concentration in Finance.
- 5. MBA students completing a concentration in Finance are not eligible for the MBA dual concentration in Accounting and Finance.

AIU Online reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.